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Chosen Option : 4

Q.12 wgTeaeiiyzs & o= 3t F @ aR 2 -'enviRret (gfAfRR) 2o, 'oftw 2, 'arsf 3 ofiR et wgda U
&1 utad T o1 /T AT 82

Ans X1 Guizy
W 2 2z
/X 3. iy
75 4 frezy

Question ID : 816161251
Status : Answered
Chosen Option: 3

Q.13 _____ A wiferataren ant anjfae gaareis & fakte & srast Arsegs (Knighthood) &Y 3urfdr
ITHHR &R & oAt

Ans X 1. Rershka g
W 2 e iR
/X 3. ey el
/X 4. smash sefieifa

Question ID : 816161262
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Status : Not Answered
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Chosen Option : 3

Q.16 WRd 3R urfehear & g iy s A wgwmer _____ &l fhg g 2

Ans X" 1 18 arpaR 1969
/X 2,12 7R 1959

o 3. 19 R 1960
75 4.6 fgisr 1963

Question ID : 816161263
Status : Answered
Chosen Option : 3
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Chosen Option : 4




Q.22 9Rd & d@fau= & ergeds ____ fi ufaf® gt s ot & forg wndtar skt (NCBC) & o+

fomam mar am
Ans  of 1 3388
75 2.338A
/X 3.328B
75 4.328A

Question ID : 816161269
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Question ID : 816161268
Status : Marked For Review
Chosen Option: 1
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Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude
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Status : Not Answered
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Question ID : 816161276
Status : Not Answered
Chosen Option : --
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Status : Not Answered
Chosen Option : --




Q.4 #= & 7F i O F9RE A, B, C 3t D 290 o Iut & Frf fr By (39T ) AT 1 Ao
F HIIA HT AT T 7T 797 F FeaT &

Ans

Company A |B C D
o=

Year l

2013 45 63 65 67
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Question ID : 816161299
Status : Not Answered
Chosen Option : --
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Question ID : 816161277
Status : Not Answered
Chosen Option : --
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Question ID : 816161278
Status : Not Answered
Chosen Option : --
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Question ID : 816161289
Status : Not Answered
Chosen Option : --
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Question ID : 816161297
Status : Not Answered
Chosen Option : --
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Question ID : 816161291
Status : Not Answered
Chosen Option : --
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Company A | B C D
—
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Question ID : 816161296
Status : Answered
Chosen Option: 3
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2015 61 60 |66 |67
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Question ID : 816161298
Status : Answered
Chosen Option : 1




12 Jfr Scosf—12sin@ =0 ¥ Fr LHEMOEo o o T 17

1—sind +cosd

Ans 5
XLJ{_}

3

vz

. 5
Xai

. 3
X4.:}

Question ID : 816161295
Status : Not Answered
Chosen Option : --
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& ATH FIT gET?

Question ID : 816161286
Status : Not Answered
Chosen Option : --
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tanl3*tan37 tands°tans53tan77"
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v
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Question ID : 816161294
Status : Answered
Chosen Option : 1




Q15 vs Bftaa & o qu w2 & X, Y # g F 40% H0F Fuer & #w 2, ¥ B gemr F 40%
FUT | TH WY FH A W, T 21 B F w0 q@ W wed §1 Y Ay Z & Beew 35 R qw w7
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Question ID : 816161283
Status : Not Answered
Chosen Option : --

Q.16 A 3T B & e 7% T+ Tgla U= T W 51,750 FT T 50 @ T 39X & & FHor &0
e s F [, A & g9 39 F 719 39 of g Beet B & 3ur # ardiw & 4 a9 ag g
A IR 3R T TR (2 ) Fr auEr S

Ans 1. 24,860
X 2. 25,000
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Question ID : 816161282
Status : Not Answered
Chosen Option : --

Q17 APQR#H,PQ = 24 cm 3R 20 =58°| S 3R T #=er: o= PQ 3R PR W ud 0@ Rg § &
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Ans X 1.14.8 cm
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Question ID : 816161292
Status : Not Answered
Chosen Option : --

Q18 i ¥ 32,160 & 48 FEgy =i 3K 10% Fr @1y 3e181 12% &7 =7 T & w37 2,016 F
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X3 32
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Question ID : 816161280
Status : Answered
Chosen Option : 4
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6

X 2 10+ 53
3

x5 10+7V3
6

X 4 12+ 543
3

Ans

Question ID : 816161293
Status : Not Answered
Chosen Option : --
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Ans X110
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X 4 20

Question ID : 816161279
Status : Not Answered
Chosen Option : --
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QuestionID : 816161288
Status : Not Answered
Chosen Option : --
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Ans x1_ 12
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Question ID : 816161275
Status : Not Answered
Chosen Option : --

Q.23 v 77 54 e & amr-yaEE 1 wiawe G F 3.6 km T am-yEwy Fr fww F 5.4 km S wES
st 7% 58.5 e # urr-9aE #r Sfage &ar & 5.4 km 3T am-vae & w7 3.6 km ST W
g1 7 T URT-gEE & e # 10 km = F o wEw (B #@) woEme

Ans X1 45
v 2 50
X3 48
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Question ID : 816161284
Status : Not Answered
Chosen Option : --
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A X1 2.8% #r gfx
X2 1.8% #r gfx

<3 1.8% & FAT
v 4 2.8% Fr FHr

Question ID : 816161285
Status : Answered
Chosen Option : 2
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Question ID : 816161287
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the correctly spelt word.
Ans J 1. Definition

x 2. Competiter
X 3. Proliferete
x 4. Beneficiery

Question ID : 816161322
Status : Answered
Chosen Option : 1

Q.2 Given below are four jumbled sentences. Select the option that gives their correct order.

A. Although I had a fear of water, | thought it was an important skill | should learn.

B. However, what | didn't realize was that it would also make me a more confident person.
C. | also thought it would be a good exercise that would make me physically stronger.

D. One of the hardest things I've had to do was to learn how to swim.

Ans X" 1. DCBA

o 2.DACB
/< 3.BADC
/< 4.ACDB

QuestionID : 816161313
Status : Not Answered
Chosen Option : --




Q.3 Select the correctly spelt word.
Ans X" 1. Recrutment

J 2. Reimbursement
x 3. Surveliance

x 4. Beaureacracy

Question ID : 816161323
Status : Answered
Chosen Option : 2

Q.4 Select the appropriate meaning of the given idiom.

To take the bull by the horns
Ans X" 1. To speak arrogantly

J 2. To handle difficulties
x 3. To murder someone

x 4. To surrender to the enemy

Question ID : 816161318
Status : Answered
Chosen Option : 1

Q.5 Select the correct synonym of the given word.

Erudite
Ans x 1. llliterate

x 2. Strong
( 3. Learned

x 4. Fashionable

Question ID : 816161315
Status : Answered
Chosen Option : 3

Q.6 Select the passive form of the given sentence.

They are constructing a residential youth hostel.

Ans x 1. A residential youth hostel was constructed by them.
( 2. Aresidential youth hostel is being constructed by them.
x 3. A residential youth hostel is constructed by them.

x 4. Aresidential youth hostel has been constructed by them.

Question ID : 816161302
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Drug addiction is the continued use of a particular drug (1) harmful consequences.
Drug addiction not only affects an individual’s health and relationship, but also (2) the
society and the environment. Prevention of a particular list of drugs can be possible by

(3) their sale without a prescription. Drug addicts should be given proper medical
treatment and (4) facilities. Motivational and awareness camps should be organized to
scale down the consumption (5) drugs.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 1

Ans « 1. despite
x 2. despite of
x 3. though
X 4. in spite

Question ID : 816161307
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Drug addiction is the continued use of a particular drug (1) harmful consequences.
Drug addiction not only affects an individual’s health and relationship, but also (2) the
society and the environment. Prevention of a particular list of drugs can be possible by

(3) their sale without a prescription. Drug addicts should be given proper medical
treatment and (4) facilities. Motivational and awareness camps should be organized to
scale down the consumption (5) drugs.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 2

Ans X" 1. reduces
o 2. impacts
/X 3. reflects
x 4. imparts

Question ID : 816161308
Status : Answered
Chosen Option: 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Drug addiction is the continued use of a particular drug (1) harmful consequences.
Drug addiction not only affects an individual’s health and relationship, but also (2) the
society and the environment. Prevention of a particular list of drugs can be possible by

(3) their sale without a prescription. Drug addicts should be given proper medical
treatment and (4) facilities. Motivational and awareness camps should be organized to
scale down the consumption (5) drugs.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 3

Ans X 1. conducting
X 2. performing
( 3. restricting
X 4. promoting

Question ID : 816161309
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Drug addiction is the continued use of a particular drug (1) harmful consequences.
Drug addiction not only affects an individual’s health and relationship, but also (2) the
society and the environment. Prevention of a particular list of drugs can be possible by

(3) their sale without a prescription. Drug addicts should be given proper medical
treatment and (4) facilities. Motivational and awareness camps should be organized to
scale down the consumption (5) drugs.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 4

Ans x 1. regression
x 2. resignation
x 3. regeneration

o 4. rehabilitation

QuestionID : 816161310
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Drug addiction is the continued use of a particular drug (1) harmful consequences.
Drug addiction not only affects an individual’s health and relationship, but also (2) the
society and the environment. Prevention of a particular list of drugs can be possible by

(3) their sale without a prescription. Drug addicts should be given proper medical
treatment and (4) facilities. Motivational and awareness camps should be organized to
scale down the consumption (5) drugs.

SubQuestion No : 11
Q.11 Select the most appropriate option for blank No. 5

Ans x 1. from

x 2. by
X 3. for
( 4. of

Question ID : 816161311
Status : Answered
Chosen Option : 4

Q.12 Select the correct synonym of the given word.

Violent
Ans J 1. Aggressive

75 2.Kind
X 3. Calm
75 4. mild

Question ID: 816161314
Status : Answered
Chosen Option: 1

Q.13 Select the word which means the same as the groups of words given.

A long and aggressive speech
Ans X" 1. Prologue

( 2. Harangue
x 3. Eloquence
x 4. Discussion

Question ID : 816161321
Status : Answered
Chosen Option : 2




Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Many of a students were not shortlisted for the personal interview.
Ans J 1. Many of the students

x 2. Many of students
X 3. No improvement

x 4. The many student

Question ID : 816161305
Status : Answered
Chosen Option : 2

Q.15 In the sentence identify the segment which contains the grammatical error.

The old man did not wanted to eat any food.
Ans x 1. The old man

X 2.10 eat
x 3. any food
( 4. did not wanted

Question ID : 816161300
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate word to fill in the blank.

All his endeavors to win his teacher's favour proved
results.

Ans J 1. futile
x 2. prosperous
X 3. perpetual
x 4. apparent

and did not bring the desired

Question ID : 816161325
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

authorized software developer.
Ans X" 1. No improvement

x 2. register me legal

J 3. register myself legally
x 4. register mine legally

Question ID : 816161304
Status : Answered
Chosen Option: 3




Q.18 Select the most appropriate word to fill in the blank.

All students should express their
Ans x 1. secluded

x 2. guarded
J 3. candid

x 4. outspoken

views in the group discussion without any fear.

Question ID : 816161324
Status : Answered
Chosen Option: 3

Q.19 In the sentence identify the segment which contains the grammatical error.

No least than fifty participants were present for the singing competition.

Ans x 1. the singing competition
x 2. present for
( 3. No least than

x 4. fifty participants were

Question ID : 816161301
Status : Answered
Chosen Option : 4

Q.20 Select the correct antonym of the given word.

Bizarre
Ans  of 1 Usual

x 2. Strange
x 3. Happy
x 4. Weird

Question ID : 816161317
Status : Answered
Chosen Option : 1

Q.21 Select the appropriate meaning of the given idiom.

To flog a dead horse

Ans J 1. To waste the efforts
x 2. To accept the challenge
X 3. To make the best use of resources

x 4. To complete the work

QuestionID : 816161319
Status : Answered
Chosen Option : 1




Q.22 Select the word which means the same as the groups of words given.

The school or college in which one has been educated
Ans ( 1. Alma mater

75 2. Alumni
X 3. Mentor

x 4. Graduate

Question ID : 816161320
Status : Answered
Chosen Option : 1

Q.23 Select the correct antonym of the given word.

Allure
Ans X" 1 Revive

x 2. Rewind
J 3. Repulse
x 4. Attract

Question ID : 816161316
Status : Not Answered
Chosen Option : --

Q.24 Select the correct indirect form of the given sentence.

“Hello”, he said to his friend. “What can | do for you?”

Ans X" 1. He told hello and asked his friend what he could do for him.
X 2. He said hello and asked his friend what can do for him.
x 3. He asked and greeted his friend that what he can do for him.

( 4. He greeted his friend and asked what he could do for him.

Question ID : 816161303
Status : Answered
Chosen Option : 4

Q.25 Given below are four jumbled sentences. Select the option that gives their correct order.

A. During the celebration, many people display a set of ornamental dolls known as 'Hina'
dolls.

B. Hinamatsuri is a celebration of the girls in Japan wishing them a bright future.

C. These royal-looking dolls are dressed in the clothing of the Heian period.

D. These dolls represent the Emperor, Empress and other royal representatives.

Ans X" 1 DBAC

#< 2. ACBD
o 3.BADC
#< 4.CDBA

Question ID : 816161312
Status : Not Answered
Chosen Option : --




